[ Efficiency vs vertpos |
~ 0.05

9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.04
0.005

|||L!.u.u.!.u.lg.!.l.l.l.l.!.l.ul!||||!||||!||||!||||L||||

1.0

Ratio

0.95L ; :
1072 10 1

10 0?
TP vertr (cr%)

MKEIL_TToriginal
mkFit_TT pL
mkFit_TT_pLW
mkFit TT pLW_IMP

<4

DQ
DQ
Efficiend —— B3

~ 0.1

L (6 SRS S S S

Ao
>0.08------ [ARAES AR RERR R e
> E : : : ; :
2 E : : : : :
Al S S I S
o F . . . .
£ 0.06------ AR I R RS | IR preree
o E : : : :
e it M SEU S | SUEE I
1SR N Y N | o -
S OSSO0 1. S

0.025— ------ % 1] S
0.0%+----i H RN
.0

Ratio

[y
T
.

30 -20 -10 O 10 20 30
TP vert z (cm)

0.95!

[ Efficiency vs. sim PV z |

N 0.1p . :
= E : :
B 0.09F {5t i
€ 0.08F -+ : 5
LI S R R o
£0.07F -] cbeereeedeeeeens i
5 E . H
< 0.06F R ERIEPEEPE Feeeeeenies
S F ; :
o F . :
£0.05F -+ {eierereedeeeeees i
[0 F : : :
0.04F--{--if----- R S

0.02 -l +++ ‘}’

0.01fF |-k + .....

N A I PR P |
9 J..W_ +
3 H :
|
L o o o R R

*®o -5 0 5 10 15 20

éim. PV z (cm)



	Contents
	Page 1


